Wie lautet die fehlende Zahl (bis 50 000)?

Subtrahieren

Aufgabe 1 Aufgabe 2
1. 22 669 - = 15436 1. 18 433 - = 7 428
, war . ) - o , o ) 28
. i ) - 5 s ) 7 o
. eons. i . prom . e
. wors. ) & 109 . e s
. . ) ¢ g5 . s e
§ s I § ose. C suom
. o ) o . o C ien
9. 49833 - = 8 742 9. 38723 = 11 188
10. 32283- = 9 643 10. 3760- = 502
Aufgabe 3 Aufgabe 4
1. 42 599 - = 884 1. 46 138 - = 29108
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9. 41858 - = 6 861 % 33287 = 5098
10. 3847 = 573 10. 2% 244 - = 18 455
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Wie lautet die fehlende Zahl (bis 50 000)? | ANTWORTEN

Aufgabe 1

1. 22 669 -

2. 35301 -

w

L 24904 -
539906
6 27692
;o 34318-
6 44026-
o 49833

10. 32 283 -

Aufgabe 3

1. 42 599 -

2. 33 750 -

3. 39 054 -

4. 30 730 -

5. 37 957 -
6. 40 200 -
7. 34 198 -
8. 41719 -
9. 41 858 -

10. 23 847 -
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7 233

22 102 -

25 405 =

13 329 =

10 330 =
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22 640 =

41 715 =
26 688 =

26 696 =

23 736 =

16 444 =

39 089 =

27 475 =

32 977 =
34 997 =
23 274 =

Online liben |

15 436

9 896

8 773

14 574

15 187

16 669

23 077

7 831

8 742

9 643

884

7 062

12 358

6 994

21513

1111

6 723

8 742

6 861

573
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Aufgabe 2

1.

2.

10.

18 433 - 11005

44020 - 95 &3F
41614 - 11548
44 543 - 8245
42 oho . 11820
47930 - 24958

32 760 - 32 258

Aufgabe 4

1.

2.

10.

46 138 - 17030

43878 - 42 648
38352 . 10729
42748 - 22043
48000 - 23 904
22934 - 13 867
s na

24 244 - 5789
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Subtrahieren

7 428

18 385

3 696

33 466

30 066

36 298

30 227

23 672

11188

502

29 108

1230

27 623

20 705

24 096

9 067

23 303

554

5098

18 455
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